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Who’s the Army Chief ? e - P
N _O

Current GDP of India \Q.
Article based on sexual discrimination between male and female. &Q
When the Capital of Magadh dynasty changed? : . Q&-

Repo rate o - X\/‘}

WEF India growth 2020 . iy (_b
Where is Gol Gumaz situated ' ‘ N ‘ \<\
Archery Gold K : O
What is World Bank Chief. Ng “ (/O
Raj Rani Mandir (state) . <
Right to freedom. S | \\
Book of Banbhatt' ‘ - O
Founder of .HarYank dQ‘ﬁésty.OQ&
Why does Eiffel tower er@ion summer.
Question based on V&@ﬁn D — disease.
. O
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D.| Based on table D U \’D‘
3 Q. of trigonometry | - '&,Q
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P =12000, T = 22, r?b
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Time and work 1 Q.
Average
Area a base of a cone is 66cm square and height is 36cm, find the area of canvas of cover it.

X+y+z=given, xy +yz+zx=given, x’+y’+2z -3abc="?
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G

Boat can travel 4 km up stream and 5 km down stream in 55 minute where is it c@over 9km up

stream and 7 km down stream in 1 hr. 25 minute. Find the speed of the boat i&QII water.

G

Profit and Loss ~ N - X\/‘}
P=6.66%, D=18% CP=given, MP="? N oy @

A\ (\-\\o

70 40

&O
\/.,
1

25
7 2

24

SSC CGL SURESHOT TEST
Practice Test based on SSC CGL TIER 1 (March 03)

Attempt Now



http://bit.ly/32cZdk7

TOPRANKERS.COM

India's Largest Online Coaching Marketplace

SSC CGL 2019 & Y Shifts @ Y- 3NMUBI TR
Telegram Channel & QT |

Telegram Channel: http://t.me/toprankersofficials

SSC CGL 4™ March Shift-1

NI
Cloze test: 5 Q (Based on Flaws and faults in human) o QW \Q)
Anto/ Syno: 2Q / 2Q (Liberty, Broad, Prevent, Rebere) | W &Q
Voice: 1Q ’'y o : *\[—-o
Narration: 1 Q (Based on command statement) \1\0
Error Detection: 2Q k @
Idiom & Phrase: Dead Heat 4 W a2 ‘ \0\0
One Word Substitution: 1Q R N s ,‘}O
PaRS:2Q A\
Filler: 2Q (Based on preposmon i.e; Insist on) <
-, QA
O(\\
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